S2(p,m) :=

0 if p<m
m

1

FZ [(

2o

~1)™ . combin(m, j)-j

p] otherwise

M=30 p=1.M j:=1.M AijJ.:: S2(p.j)
25 26 27 28 29

18 0 0 0 0 0
19 0 0 0 0 0
20 0 0 0 0 0
21 0 0 0 0 0
22 0 0 0 0 0

AN - |23 0 0 0 0 0
24 0 0 0 0 0
25 1 0 0 0 0
26 324.994 1 0 0 0
27 5.557-104 351.006 0.999 0 0
28| 6.654-106 6.47-10% 378.013 0.999 0
29 6.266-108 8.337-106 7.491-104 406.024 1.003
30 4.94.1010 8.433-108 1.036-107 8.627-104




SS2(p,m) :=

0— 0 if

1<
!

2o

AN2 . = SS2(p,j
b (p.J)

AN2 =

p<m

Z [(—1)m’j-combin(m,j)-jp] — 1 otherwise

25 26 27 28 29
18 0 0 0 0 0
19 0 0 0 0 0
20 0 0 0 0 0
21 0 0 0 0 0
22 0 0 0 0 0
23 0 0 0 0 0
24 0 0 0 0 0
25 1 0 0 0 0
26 324.994 1 0 0 0
27 5.557-104 351.006 0.999 0 0
28| 6.654-106 6.47-10% 378.013 0.999 0
29 6.266-108 8.337-106 7.491-104 406.024 1.003
30 4.94.1010 8.433-108 1.036-107 8.627-104




